https://lwww.leads4pass.com/a00-280.html

L Qads 4 PQSS 2024 Latest leads4pass A00-280 PDF and VCE dumps Download

A00-280%6As

SAS Certified Clinical Trials Programmer Using SAS 9

Pass SASInstitute A00-280 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/a00-280.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SASInstitute
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

A00-280 Study Guide | A00-280 Exam Questions | AO0-280 Braindumps 1/4


https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html

https://lwww.leads4pass.com/a00-280.html

Leads4 Pass 2024 Latest leads4pass A00-280 PDF and VCE dumps Download

QUESTION 1
This question will ask you to provide a line of missing code.

You want to present a column header that contains breaks within the header as indicated below.

Pericod 2
Subjectc Tceatment Date

Given the ollowing program.

pPrus Lepur b Jdoid—-Livdloent winscdol oode hecoar;
colum subject trt adace
define subject / 'Subject' ;
define tee /0 'Period 2*Treactment'
define =dace / 'Dacs’
run;

In the space below, enter the option that completes the program (Case is ignored. Do not add leading or trailing spaces
to your answer).

Correct Answer: SPLIT=\*\\'

QUESTION 2

Given the following two data sets EX and AE:

dvar usubjid exscatc exstdr exende

EX 201027 FIRST DOSE 15JANZ002

EX 201027 INTERRUFTION DEJUMNZ010 O7JONZD10
EX 201027 INTERRUPTION O7F3EFZ010D 13SEFZ0D10
EX 2110446 FIRST DGSE 11MARZO09

EX 211046 INTERRUFTION Z5AUG2010 IDADGZOD10
dvar usubjid aestd:c m=endt a=refid

KE 201027 0D/0CTZO009 OSOCTZ009 SAED1

AE 201027 13NARZO10 O4APR2010 AEODS

AE 211046 O9HARZOOS ZO0MARZ00S AEODL

AE 211046 11HARZOOS O1APRZ0D0S AEQDZ

AE 221058 15DECZ0O09 17DECZ009 SAEOL

Which output data set is produced by the submitted SAS program?
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T a.
usuhjid exstdr Exendt aerefid
201027 15JANZ 009 SAEOL
ninza NETTTMN2IN MRITIEZN N BEMNNA
201027 DT3EPZ010 138EPZ010 AEODE
211046 11HARZO09 AEOO1
211046 Z5AUGZ010 0DATGZ010 AEQOZ

i BH.
usubjid exatdt exendt asrefid
201027 DZJUNZ010 O7TJUNZO010 SAED1
201027 DTSEP2Z010 135EPZ010 BAEC1
201027 N T2 M 0 METTIRE M M HEINE
201027 USEPLULU 135 EFEUIU AEUUG
2110456 25AUGZ010 30ATGZ010 AEODD1
211045 25AU0G2010 30AUGZD10 AEOOZ

{ﬁ l: -
usubjid exatdt exendt asrefid
201027 153 AN 009 SAED]
201027 02JUNZ010 OrdUNZO10 AEQDG
0102w OPSEPZ010 135EPZ010 AEDOE
211046 11HARZOO0S AEDD1
211046 Z5AUGZ010 304AUGZ010 AEDDOZ
221058 SAEOL

r\ D .
usuhjid pxarrrt exendt serafid
201027 o2Jumz010 07Nz 010 LEOOS
z01027 OTIEPZ10 133EPZ010 LEOOG
211046 Z5A0G2010 ADAUGZO010 REODZ
A. Option A
B. Option B
C. Option C
D. Option D
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Correct Answer: B

QUESTION 3

Which validation technique involves two programmers writing separate programs to produce the same output, then
comparing the result?

A. Independent Programming
B. Peer Matching

C. Identical Programming

D. Peer Review

Correct Answer: A
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QUESTION 4

Given the following data set:

STYSIDMA COLLDTH HELIC GLUC S5GOT 3GPT
0001 0001 19961216:09:26 ol 125 d2 .2 29.1
0001 0001 19961223:08:18 6.1 136 d4.1 30.1
0001_0001 19961230:08:12 8.1 225 31.8 29.5
0001 0001 19970106:09:01 6.7 158 i 29.7
0001 0001 19970110:08:43 6.6 150 3n.5 30.2

Which type of clinical trials data is this?
A. Laboratory

B. Baseline

C. Medical History

D. Vital Signs

Correct Answer: A

QUESTION 5

The following SAS program is submitted, but fails due to syntax errors.

data WORKE.TOTALEXPEND (kesp=NonthExp{la}):
set WORK.HONTHLYEXPEND (keep=Year Drug Disp):
array MonthExp{lZ};
do 1=1 to 12;
HonthExpii}=Di=p;
end;
drop 1;
Cun;

What is the cause of the syntax errors?

A. The keep= data set option should be (keep=MonthExp*).

B. An array can only be referenced in a KEEP statement and not within a keep= data set option.
C. An array cannot be referenced on a keep= data set option.

D. The keep= data set option should be (keep=MonthExp).

Correct Answer: C
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